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Decision tree
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Cx->Ap2t 0.5 04
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Drug A2} BS| 2i4 Z 3}

Drug A Drug B
HT 25 36
Cx 30 24
Al 45 40
282 0| 85HH|B-THEA
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Markov
model x
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Sensitivity Analysis . jtivity Analysis
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Cost,won

Cost-Effectiveness Analysis

8,500.0 I8
C
2,000.0 -
95000+ Aol tf 8t B2} Inc C/E
Inc C/E = 500/5 = 100 won/year
2,000.0 -
\1,500.0
D
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1500.0 < *
5
0o Y T 7 T T T T T T
0.0 A X1 .0 6.0 8.0 0.0 2.0 4.0 \6.0 8.0 20.0 20

Life year gained, year

Mol 2tE

(Transitional probability)

O
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E= HMels| 5= A o]
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Sensitivity & Specificity of
Screening and Diagnosis

Parameter Base case

value
Sensitivity of FOBT for polyps/cancer 0.1/0.5
Sensitivity of CSCPY for polyps/cancer 0.9/0.97
Sensitivity of colon study for polyps/ cancer 0.5/0.8
SIG index 0.67
Specificity of FOBT 0.9
Specificity of CSCPY 1
Specificity of SIG 1
Specificity of colon study 0.9

Natural history of Polyp/Cancer sequence

Parameter Base case
value
Prevalence of polyps at age 50 0.255
Annual polyp incidence rate 0.005
Percent of cancers originating as polyps 100%
Dwelling time of cancer in early stages 2 years
Percent of cancers detected in early stages with no 0.05
screening
Dwelling time of cancer in late stages before detection 6714
Five-year all cause survival for early cancer 90%
Five-year all cause survival for late cancer 54%
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Complications and unintended

consequences
Parameter Base case
value
Rate of perforation of colon in CSCPY 0.002
Rate of perforation from SIG 0.0001
Rate of perforation from Colon study 0.00005
Rate of perforation of colon in polypectomy 0.004
Death rate from perforated colon 0.002

Cost

Parameter Base case value

sigmoidoscopy 32,520
colonoscopy 65,600
colon study 73,640
FOBT 4,070
polypectomy 172,990
Treatment of early cancer for first year 7,000,000
Treatment of late cancer for first year 16,000,000
Treatment of cancer after first year 1,743,000
Treatment of colonic perforation 3,000,000
Treatment of terminal care 116,790,000
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N2EFY
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22 | mas ik
JUAGAE7E] AR Fojul

A 96,737 37 163 6,006,741 4,348,880
gy 1,978 66 181 17,538,656 | 13,544,394
U EAEZF 1,782 52 155 9,591,951 | 7022548
BgdAEY 621 59 118 9128496 | 7,036,330
TR EFF 478 63 208 8,935,009 6,815,325
iy 1,855 42 114 7,883,103 6,069,734
Axet 1,570 49 159 7,740,765 5,690,637
=yt 1,746 50 160 7,583,763 5,708,541
=l 1,781 47 152 7,499,460 5,645,793
9,314 19 4,926,195
K3 12,574 8 139 5957866 | 4,389,176
A% 3 38 115 5,873,086 4,394,345
A7 2,536 43 128 5,811,199 4,332,371
AT 11,708 37 147 5,738,469 | 4,258,169
dETEY 1.661 37 132 5,701,067 3,984,732
*Heg 18,364 35 186 5688187 | 4,013,246
B 5,591 27 310 5376542 | 3458746
B 1,391 38 116 5,226,937 3,898,617
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& of X1o| : =72 HFoIA E=T1?

o M| AbE

Z| F4| + ZHYH|

o| Al (Providers)

Z¥eolgu| = ZgH| (FodH| + AR HF) +H|ZHH|B
. &X}

Out-of-pocket = 22 £ &3 + H|Z0{H| &
. H3X}

=0t| or 2 BH| (20{H| + 2212 EF

TSko ME 2

2)MHAH AL =3 £ (Screening compliance): 30%,
FX =2 T (Follow-up Compliance): 60%

3)MHAHA} =8 T (Screening compliance): 100%,
X 3 T (Follow-up Compliance): 100%
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Screening compliance = 60%,
Follow-up compliance = 80%

Net Cost,won

screeqning comphance=6U%0

500 pog P8
DCBE3
475 000 +
450 000 —
DCBE 5
435 000 X
DCBE 10
400,600 + FOBT 1
FOBT 1 +SIG 5
* ¢
spoo v SIG5+DCBES COL3 %
No screening FOBT 2
350,000
SIG at 55
A SIG 10 .
325,000 v SIG 5} COLS
{1
colonoscopy at 55 “COL 10
300 000 T T T T T
6,160 6,165 6,170 6,175 6,180 6,185 6,190

1ifa Bxmactancyy doxs
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Screening compliance = 30%,
Follow-up compliance = 60%

screening compliance=30%

450,000 P
425,900 - DCBE3 +
DCBE S5 X
400,000 —
DCBE 10 % FOBT 1
i1
=] >FOBT 1 +5IG 5
g 37500 v
~ Q&

5 No screening FOBT 2
o @ SIG 5+DCBE 5
g SIGatss &

350,000 v

SIG 10 —
* 451G 3
colonoscopy at 55
325,000 &
COL 10 — %
COL 5 COL3
300,000 . T T T £l
6,160 6,165 6,170 6,175 6,150 6,185
Life Expectancy,day
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Screening compliance = 100%,

Follow-up compliance

100%

screening compliance=100%

600,£00 P
DCBE3 4
550,000
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L 4
500,600 - COL3
DCBE 53X 5
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450,000
3
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8 400,00 ‘
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Z . v
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350,000 0 sCreemung
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300 500
SICat 554 SIG 10
colonoscopy at 53
250,000 T T T T T T
6,160 6,165 6,170 6,175 6,180 6,185 6,190 6,195
Life Expectancy, day
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